
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

6th Month, 2nd Week, 6th Day Ex. 5.4 Q # (3,4,5)

Q.1 Choose the correct option (1×6=6) ŠŠŠŠ¥¥¥¥„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) The statistical measure that dentifies a single value as representative of

an entire distribution is called:

BBBB@@@@****ììììXXXX _______ ÑÑÑÑggggcccc****CCCCeeeeöööö����ZZZZqqqq----zzzzZZZZuuuuŠŠŠŠggggzzzzVVVVÃÃÃÃ7777gggg~~~~„„„„ÆÆÆÆîîîîgggg6666,,,,ÙÙÙÙ||||####™™™™@@@@****ìììì

(a) Frequency distribution ®Š~„ (b) histogram 4h4ð XH¤/Zx

(c) mean Zz‰ (d) central tendency %œ/~gsy
(ii) The value when occupies the middle position when all the observations

are arranged in an ascending/descending order is called:

4444,,,,zzzzààààFFFF,,,,KKKKMMMM~~~~FFFF,,,,KKKKMMMMŠŠŠŠcccc****YYYY@@@@****ììììÂÂÂÂzzzz{{{{ŠŠŠŠggggŠŠŠŠggggxxxxãããã7777iiiicccc6666,,,,ƒƒƒƒCCCCììììXXXX / ZZZZ####ÓÓÓÓxxxxxxxx@@@@ZZZZ]]]]ÃÃÃÃùùùùŠŠŠŠ~~~~

(a) Frequency distribution ®Š~„ (b) median zT6

(c) mode Z¬Š{ (d) mean Zz‰
(iii) The value that occurs most frequently in the data is called:

BBBB@@@@****ììììXXXX _______ ZZZZ++++ŠŠŠŠggggTTTT~~~~ƒƒƒƒÐÐÐÐiiiicccc****ŠŠŠŠ{{{{ññññZZZZŠŠŠŠƒƒƒƒ@@@@****ìììì

(a) Frequency distribution ®Š~„ (b) median zT6

(c) mode Z¬Š{ (d) mean Zz‰
(iv) Frequency is calcutlated by adding each frequency distibution to the

sum of its predecessors.

®®®®ŠŠŠŠBBBB@@@@****ììììXXXX _______ CCCCÙÙÙÙ®®®®ŠŠŠŠÆÆÆÆùùùù´́́́ÃÃÃÃZZZZkkkkÆÆÆÆZZZZŒŒŒŒ®®®®ŠŠŠŠ~~~~¦¦¦¦HHHHYYYYnnnn

(a) distribution
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(b) cumulative IŠ!

(c) polygon MZÑHq (d) both a and b ŠzâV b Zzg a
(v) To write a data in the form of a table in such a way that the frequecy of

each  class is observed at once is called:

ññññZZZZŠŠŠŠÃÃÃÃZZZZqqqq----]]]]....zzzzwwwwÅÅÅÅßßßßgggg]]]]~~~~ZZZZkkkk§§§§bbbbrrrrāāāāCCCCÙÙÙÙ))))®®®®))))ÆÆÆÆ))))����®®®®ZZZZŠŠŠŠ»»»»¯̄̄̄ääääSSSSZZZZxxxx@@@@{{{{HHHHYYYYnnnnÔÔÔÔZZZZÐÐÐÐëëëë÷÷÷÷::::

(a) Frequency distribution ®Š~„ (b) Comulative frequency ®~IŠ!

(c) Frequency polygon MZÑHq® (d) None of these Zy~ÐÃð7

(vi) How many type of frequency? ®®®®ŠŠŠŠÅÅÅÅXXXXZZZZllllxxxx÷÷÷÷????

(a) 1 (b) 2 (c) 3 (d) 4

//// Answer the following questions: ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[
(i) In a data n = 5; ΣΣΣΣx2 = 10400 and ΣΣΣΣx=50. Find variance and standard

deviation. (2)

ppppZZZZzzzzgggg££££gggg~~~~ZZZZāāāāZZZZssss¥¥¥¥xxxx™™™™,,,,XXXX ΣΣΣΣx = 50 ZZZZzzzzgggg  ΣΣΣΣx2 = 10400 n = 5 ññññZZZZŠŠŠŠ~~~~

(ii) The mean height of 10 women is 1.5m. Find the total height of 10

women. (2)

ppppZZZZ&&&&ÅÅÅÅÀÀÀÀZZZZzzzz™™™™ðððð¥¥¥¥xxxx™™™™,,,,XXXX 10 ¢¢¢¢aaaaìììì 1.5 ppppZZZZ&&&&ÅÅÅÅZZZZzzzz‰‰‰‰ZZZZzzzz™™™™ðððð 10

(iii) The mean length f 5 ribbons is 15.5m the mean length of 4 ribbons is

14.75m. Find the length of 5th ribbon.     (2)

¢¢¢¢aaaaìììì0000****vvvv,,,,gggg4444,,,,ÅÅÅÅMMMMðððð¥¥¥¥xxxx™™™™,,,,XXXX 14.75 gggg4444,,,,ÅÅÅÅMMMMðððð 4 ¢¢¢¢aaaaììììXXXX 15.5 gggg4444,,,,ÅÅÅÅZZZZzzzz‰‰‰‰MMMMðððð 5

(iv) Explain the method of calculation of mean, median and mode for

grouped data.     (2)

¤¤¤¤////zzzz„„„„ññññZZZZŠŠŠŠÆÆÆÆaaaaˆ̂̂̂!!!!ZZZZzzzz‰‰‰‰ÔÔÔÔzzzzTTTT6666ZZZZzzzzggggZZZZ¬¬¬¬ŠŠŠŠ{{{{ÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
(v) Define range, variance and standard deviation and explain the purpose

of measure of disperation.     (2)

ââââuuuuzzzzŠŠŠŠÔÔÔÔppppZZZZzzzzgggg££££gggg~~~~ZZZZāāāāZZZZssssÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,ZZZZzzzzgggg;;;;îîîîÆÆÆÆÑÑÑÑÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
(vi) If variance = 5, n = 7, Σx2 = 280. Find the value of ΣΣΣΣx. (4)

ÅÅÅÅ7777¥¥¥¥xxxx™™™™,,,,XXXX Σx ƒƒƒƒÔÔÔÔ Σx2 = 280  5 = ZZZZ¤¤¤¤////pppp
Q.3. Find the mean, median and mo1de of the following frequency table.    (5)

ŠŠŠŠgggg̀`̀̀ffffssss����ÛÛÛÛrrrr³³³³××××ÃÃÃÃZZZZEEEEwwww™™™™DDDDƒƒƒƒññññZZZZzzzz‰‰‰‰zzzzTTTT6666ZZZZzzzzgggg¬¬¬¬ŠŠŠŠ{{{{¥¥¥¥xxxx™™™™,,,,XXXX

Class limits  ))))����uuuuzzzzŠŠŠŠ 1-5 6-10 11-15 16-20 21-25 35-30 31-35 36-40

Frequency ®®®®ŠŠŠŠZZZZ]]]] 19 24 18 21 23 20 16 15
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